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N = 0 & AF S 99 N A
2A: A
Mz HMSAAH (HAW)(IIEH/IIE
& 123l (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
EEsgnT 48,196,369 47,702,078 494,291
= 262,038
= 316,252
= 671,314
= 46,946,765
HAESHAY (H™E D) (IIEH/DIIEH 39,435,894 39,332,478 103,416
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= 316,252
= 312,443
= 38,569,713
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Jl2 &4l 274,073 275,952 AN 1,879
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01 AF 2t 2| H| 33,192 33,528 A 336
Ogbt=24| 24,120,000 24,120
O3 &l 7,000 x27H 54 x 122 %0. 8 9,072
02 32%H| 1,800 1,800 0
OZ2222 ¥ HA 150,000& ~12& 1,800
202 04| 53,001 54,964 A 1,963
01 2L HI 53,001 54,964 AN 1,963
EMedg JI2gL2F=8 ol 42,768,000 42,768
OANHI(A2E B4 S)
75,800 x27H x5 10,233
203 €2 F=&d| 109,880 110,660 AT780
01 J| 2 2L L R=XH| 89,100 89, 100 0
OQJ|a2dAdR=R (%) 52,800,000 x1H 52,800
OJA2HAR=X(EZ2S) 36,300,000 «1H 36,300
02 BRI 2 =X H]| 16,580 17,360 AT780
OAKIIMAR =X (2FH) 16,580
— A &10021 0| ot 80,000& *100H 8,000
— Z=(101~3002! 0] 3t) 60,000& *143H 8,580
04 FEASHEYFFEH| 4,200 4,200 0
ORMSYYLET(FA30205t)
350,000 x12& 4,200
204 = 2 4= A H| 76,200 75,000 1,200
01 MEgHRSHAH| 76,200 75,000 1,200
O&XMIAHR =X 76,200
-2 650,000 x1H x12€ 7,800
—232 400,000 x1H x12& 4,800
— A 400,000) x2H x12& 9,600
— 43 350,000 x2H x12& 8,400
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— 53 (SEYE) 150,000& x13H 122 23,400
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lHERIH(BZ) 39,161,821 39,056,526 105,295
2 237,486
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< 312,443
s 38,295,640

lFA2HHI(BZ) 39,161,821 39,056,526 105,295
= 237,486
= 316,252
S 312,443
s 38,295,640

101 @14 Hl 31,143,745 29,759,107 1,384,638
2 237,486
&2 316,252
< 312,443
s 30,277,564

01 2= 27,135,453 25,952,284 1,183, 169
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- 79,723,920& 14 79,724
-2z 76,449,000 x 14 76,449
—4= 4,020,700& «3H «128 144,746
— 5= 3,892, 100& x29H «12& 1,354,451
— 6= 3,351, 100& x129H »12& 5,187,503
—7= 2,575,500& x157H 123 4,852,242
— 8= 1,864,300& x123H »12& 2,751,707
- 9= 1,423,000& *54H 123 922,104
—Jls6s 3,385,600& x5H x123 203,136
—Jls7s 2,763,000& x14H «12& 464,184
—Jls8s 2,360,300& x13H 123 368,207
—Jls9= 1,683,700& *31H x 123 626,337
=, 4,308,500& *3H «12& 155,106
— NS At 2,928, 1003 x22H 123 773,019
— A 1,930,000& »3H «12& 69,480
OAMelSIdg 23 Al 825,912
— 6= 4,397, 7203 ~4H « 128 211,091
& 58,623
e 152,468
-7 3,776,840& x10H 123 453,221
=2 178,986
[ia 274,235
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& 78,643
e 82,957
OIS HSEANE BEX 3 38,069,000 38,069
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il L X+ 2l 20,000 x810H x12& 194,400
— AHEHH EXx4E 352,080 x100Y x4 3] 140,832
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201 et A H| 16,840 16,840 0
01 Ak 22l bl 16,000 16,000 0
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OULUHE S & NA 2
40,0009 53 *508 A 10,000
02 B2l 840 840 0
OF2SES SII288 70,0008 *12% 840
Ngzes nsEd 485,200 417,200 68,000
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O D S| 226,000
-T2 ARNS(ZLVDSY)
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—~EAHLE DS 5,000, 0002 *3% 15,000
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